
Saturnino

wydrukowano z www.strima.com  ||  printed from www.strima.com 1/2

15

16

17
40

38

39

17

26
25

24

35

3636

35

37

29

28

27

3031

32

34
33

A C

1 2
3

4

5

6
7

8

9
10

11

12

13

14

17

19

18

14

23
22

21

20

Macchine per stirare

BATTISTELLA

SATURNINO
10

1

2



Saturnino

WYDRUKOWANO Z WWW.STRIMA.COM  ||  PRINTED FROM WWW.STRIMA.COM 2/2

POS. Q.TY CODE DESCRIPTION

1 1 Steam iron

2 1 Electric cable for iron

3 1 Steam tube

4 1 Rubber ring for wire

5 1 Connector

6 1 Steam feed joint

7 1 Coil

8 1 Valve group

9 2 Nuts 1/4"

10 2 Washers 1/4"

11 1 Safety valve plug 3/4"

12 1 Plug OR gasket 3/4"

13 1 Nut 3/4"

14 2 Washers 3/4"

15 1 Cable support spring

16 1 Cable support

17 1 Frame

18 1 Switchboard panel

19 1 Handle

20 1 Iron rest

21 1 Mazzeri plug

22 1 20825 Mazzeri socket

23 3 Luminous switches 16 A

24 1 Pilot lamps

25 1 Boiler

26 1 21914 Boiler cover

27 1 "T" joint 1/8"

28 1 21033 Safety valve 1/8"- 5 bar

29 1 Joint 1/8"

30 1 Teflon pipe

31 1 Curved joint 1/8"

32 1 21917 "Y" joint 1/8"

33 1 21036 Manometer 1/8"

34 1 Pressure switch 1/8"

35 2 21095 Thermostats 170° C

36 2 20591 Resistances

37 4 Clamps

38 1 Metal cap 1/4"

39 1 Electric cable

40 1 Rubber ring for wire


